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Bonds to nine - revision. Lo

Join the leaves to the correct dinosaurs.




Bonds to ten - revision. 2]

Fill in the onswers.

3+3=[]_ 0-3=
L+4= L+6=
2-2= I0-4=
I0-3= 9-4@
3+6= 3 3
I0-5= d&@
L+3= B
5+5= -7 =

/0-0 :
6_ | ra -
10 - 7 =[] < -

Copyright. Depicta 10U £L62-312 Thve book may not be copied



3]

Bonds of ten - revision.

MAKE /O

Fill in the missing numbers.

» ) v
Copyright Deplero (OU) £62-35/2 This bock may not be copied



|-Bonds of eleven - plus and minus e

O 1 23 LS 67 8BF0NI12IBILISI6T7I8192

[+ =]l +3=ll|ll -2 =

[0 + =/l +

L+ =/ @

5+ (=1 +10=1I //-7%‘
3+ (=1 +8=I‘ - 1]

I -/l =




Bonds to eleven - mixed. 5]

5-3=__
0-9=__

[0+__=/0

Copyright. Depicto (01N LE2-32 This book may not. be copled.



Bonds of twelve - plus and minus. el

01 23 LS &7 8BI10NI1RIBILISI6SI7IBIT2

O+ =[2 +4L=12|12 - 6 =
&+ = [2 + [1=12]12 - 1 =E




Bonds to twelve — mixed.

q+__=/0

Coprgrghn Depicra (01 LE2-TTN2 This bock may nee ke copled
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[Bonds of thirteen - plus and minus.

O 1 23 LS 67891010 I12IBILISI6I7I8192

| + =3 +/3=Ijl3-5=

S+ =13 [J+10=13 13 -7
I3 -

ae




Bonds of /1,12 and /3. &3

Copyrighe Deprcta (VN £462-3T12 This beok may net be copled,



Bonds of fourteen - plus and minus.

Lol

O /1 23 LS 678 910N 11RRIBILISIEI7TIBIN2

2+ = +I3=1L) 14 - 5 =
6+ (=1 +10=14) 14 - 7
i+ O =141+ 1= /4-2&
10+ [ =IL +//dé* 4. =
L+ - |9 =
]+ bﬁ: | =
3+ I, - I13=
I3 + IL-0=
| + % I, - 6=
7+ [ =¢ +12=14) 14 -3 =
7+ 1O s 9=14) 14 - 1=
5 a1 = I, + 7=l 1L - 8=
= [/ + 3=14| 14 -4
2+ =/1.’ +0=l4) 1L - 9=
8+ [J=IL + 6=14] 14 - 10=

Copyrght Depicta (011} LE2-3TV2 This book may net. be copied.




Bonds of /3 and /4 - mixed.

Copyright. Depicta 10U LE2-352 This book may not. be copled




I_Bonds of fifteen - plus and minus.

=]

0/ 23 LS 67 8910NI12I1IBILISI61718/1920

2+

7+
I3+

IS - 10=
IS - IL




Bonds from ten to fifteen. | &
The answer is the number in the middle. Work out the

| .
@A 0‘
WSS
ST

8 2 "

0'@5

SN 2T O
A 6 NH” ﬁ) &
/9 @%ﬂ%‘
SRR
L TRV AZ

TS ‘?ﬂ
Sl ey
s &fg

Copara peeta 101 L62-3TV2 Thvs book may net. be copled




Bonds of sixteen - plus and minus.

A

O 1 23 LS 6783100 RIBILISIKI7TIBNZ

0+ T 1=16| [J+13=14 16 - IL.=
g8+ [1=16 + =16 /6-/6%
3+[ 1 =16 + 0=[6| 16 5
0+ =16 \Hl«*e\s-
6+ .@ -1l =
16 + 16 -3 =[
L+ ?éols 6 - 7 =
1+ L=16|16 -1=
2{?[@/@ L=16] 16-6=
I5+ | =$ + 8=16| 16- 4=
7+ [(1Ol6 +16=16| 16 - 10 =[]
13 =16 +7=16| 16 - 15 =
=16 + ] =16]|16-2=
9+ [J=16 +2=16| 16 - 9 =
2+ [1=16 + 3=/6| 16-5=
I+ =16]1T ]+ 6=16| 16 - 8 =
T L T 2 T s Lo R L S LUy




Bonds of /4, /S and /6. (=]

These dinosaurs have red, yellow and blue eggs.
Colour the eggs blue that add up to /4.
Colour the eggs red that add up to /0.
Colour the eggs yellow that add up to 16

Copyright. Depicea (0W) £62-3512 This book ray not. be copled



Bonds of seventeen - plus and minus|

O/ 23 LS 6789100 I12IBILISIEI7IBT2

| +

l4 +

L+

IS+

9+ =17
2+ =17
2+[ 1] =7

+ =17
+17 =17
+ 0=/7
+/

+9=17

<%§bla§§4=

17 - 16 =]

]

I7-7=
¥

- 9 =

I7-0=

17 =13

17 -2=

17 -1l

17-5=

I7 =10

17 =15

[7-3=

17 =2

[7-4=

17 - 8

Toraigr Dopirea 0T CE25T Thos boek sy mox b coped




Bonds of seventeen - plus and minus

Q1 23 4L S 678 F100N1IRRIBILISI6EI7I8BIN2

O+ =[7 + [=17| 17 - 17 =]
I+ =[] +t|0=I I7-6=

The dincsaurs should have /7 beads on each plece ing.
Drow in $he missing beads then wm@e sums eath.
a

; {
@L ©

Copyright. Depicta (011) L6232 Thia beck oy net. be coped



Bonds of /5, 16 and /7 - mixed. |

9+ _ =10 [6-2%___

Copyrsghn. Dapicra (VN £62-35/2 This baok moy ret be copled



[Bonds of eighteen - plus and minus.

ugl

Q1 23 LS E7 810N RIBILISIEI7I8 N2

g+[1]=18| [1+9=18
L+ =18 (1+17=18

=18
[8-35=

I8 - I7=

[8-8=
[ ‘
/

8_
\O% -
-18 =

I8 =14 =

18 -7=

18 - 12

18 -4 =

18 =15 =
18 - 13

I8 -2=

18 -10

18- | =

I8 - 9




[Bonds of eighteen - plus and minus. |&

Q1 23 LS 6789100 IRIBILISISI7IEBIT2

2+ =8 +0=/8| I8 - || =
17 + =8 + [=18| /18-0=

Copyright. Depicta (0I1) LE2-32 This beok may rot. be copied



[Bonds of nineteen - plus and minus!

2]

0/ 234567 89R0NIRIBILISIEITIEBINZ2

o+[11=19| C1+13=1919 - 1=
8+ =19 [+ =119 - Ié%
3+ =19|1J+ 0=(9| 19 -, 4&F
0+ [1=19| [+ /Qe‘la=
6+[11=19 210 - 1] =
16+ [1=19 3% 19-3=
L+[1] =1 %&/q 19-7=
14+ L‘.g\zs/q 19 - =
2+ / Y L=19]19-6=
15+ []= + 8=9|19-4=
/%\éeq +18=19] 19 - 10 =[]
34N =19 T 1+ 7=19|19 - 15 =
=19 T 1+1=19|19-2=
9+[11=19 +2=/9|/9-9-=
7+ [1=19[ 11+ 9=/9|19-5=
I+[ 1] =19[ 1]+ 6=19|19 -18 =

“3Ji£ Tha Book may net. be copies,




Bonds of nineteen - plus and minus.

Q1 23 LS 6789100 RIBILISIEI7TIBIN2

g+[[1=/9| [J+/0=/9|/19-0=
2+ O=19| O+16=19|19 -19
7+ =19 O+r2=19| 19

Copyright Depicta (011 LE2-32 Thim bock may not. be copied



[Bonds of twenty - plus and minus.

01 23 4L S 6789100 11RIBILISI6SI7I8IT20




P2

rBonds of twenty - plus and minus.

01/ 23 4L S 67 8910NI12IBILISI617181920

2+[1] = +19=20{20 - 20 =
7+ 0= 0=
6+ = |
20+[] = QoM -

Copyrighe. Depicta (V) £62-3012 This book may not be copled



Bonds of /8, /9 and 20 - mixed.

20-__=/0
20-7=__

[O+__ =20
2% ... wX)
——+3=20
B+ __=20

Copyright Depicta (01 LE2-05/2 This bosk may nst. be copied.



Bonds from sixteen to t.went.H‘ (28]
The answer Is the number In the middle. Work out. the

> missing partners o
L

@ TS (3 X3
) i
Rt

S e R:: @Q\
(5<1 @%'@'a\
L 1

<7
: Ay
AT

SRS




Bonds to twenty.

% Fill in the missing answers. ﬁ

[12|31415]6|7[8|9]/0

Copyright. Depicta (0} £62-33/2 This book may not be copled.



Bonds to twenty.

Fill inthe missing answers.

I112/13|141516]7]18]/9

ASlQIR(NI[ONOH PN WIN |~ ¢
09
<&

Copyright. Deprets (OV1) LE62-3512 This book may not. be copied.



Bonds to twenty. il

Write three different number sentences for each of
the numbers below. The first one has been done for you.

1=_6+5 _ [6=
Il = 16 =
Il = 16 = >
2= 7> —
A
2= -
) Ol

/2=
¥ R

o’ v~$ .‘g“%
/3=_¢,__<§§§_ I8 =
L= 3 19 =
1= 09 Iq =
/‘Sﬁb /9 =
g?= 20=
/5= 20=
5= 20=

Copyright. Depicta (01/) L62-3H2 This book may ret. be copled



Number cards on back of page.






Bonds to twenty.

Put the cards in 6 equal piles so that each pile adds
up to /0. Record your results here:

Pile / +
Pile 2 +
Pile 3 -
Ple £ +
Pile 5 +
Pile 6 -t

o

Cord -
T e
in groups of 2- 4. Use two
pocks of cards and take
o turn 2 up ot o time.,
Add or subtract them
before the ume
) and the

o the
at the

mm.wm

Fone

&

[ -

[

O=\.’-"

N

N N N
|

— S S

U=>-

Copyright Depicta I0V) L62-T2 Thie book may not be copied.



5 = =5

L B 16

5 5 @ >
N\

! Bonds to twenty. £
20 % ~
' i §
8 N\ L
/0
6

“\
I, /
/3 2
2 3
/] /]
/0 0] [5
Il q q
\'g q 8
7 < /0 x
61O 6| |9
I51\& 5 5| [I0
ﬁ 8 L1 [
/ 3| [IL 3
2 /0 2| I3
19 / 16 /
20 0 ol |/5

Copurgre Depicto (M) LE2-3502 Thie book maxy not. be ospled



Bonds to twenty. -

IS
/6
/ [2 I3 /

NWI|F
NIW

0) /3 IL. 0

Copyright. Depiera (OU) L62-35/2 This book may not. be copied




Bonds to twenty.

@ 7
=

/

Jo L=
I8-5=__
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